22 .notebook December 03, 2019

S g A
Z éﬁ""’ et I = 4‘ )+ A
ms A } Aa g‘L)A-l =
- @ / ‘ZT;TA
bt 4%41 ¢ (7

Y S § B
P T4 024 =7 5@



22 .notebook December 03, 2019




ooooooooooo




22 .notebook December 03, 2019

e - oy .S
Z m-l-}/»-l-z ?

A

N =l sl PO AR)
IAA’_ l= r‘ y » .} @(.‘;[& “)‘l“”‘]

(#9523a%2) T#

o A A R R
= LTt T nTy

~~>P

= ApS. v PR ve (0,1



22 .notebook December 03, 2019
o 1,%) A(/ RADA
ZA- (A _7/& V
. A
Tt | 2= N O

m» “jﬁ— +2

LE(BL. kA = @
.____”f/ Z r ) = @
@ 43s.

ABS. ¢ xeTo, 1]




22 .notebook December 03, 2019

S pltl ek

A -/

! M A DEL % ‘
y Az=7°

VA
LS 2 ‘z'--‘-'i"

X 1_24
' 3 L 2t

A
M Z.‘“‘




22 .notebook December 03, 2019

Z (-") » -4-3»--‘2 Z (v 2} (44): ( / _.Z(..-r-z) [ ns1)- X

me0 A4*0 ,o;ro a.

? = &l/)-( m+4 l
I,,‘Lgm*g'Q Z)/ / (y.a)
4»4/ 6“"3)__7 *d /“"“’

T T ] T 1 (%= °

@

S YosV. T xe(-n4)

§ € -aa) =

nAfv ST, hHhau
— ———




22.notebook

December 03, 2019

M0

< 2
Z"X»z.:ﬁ ul A
+~=0 A-X

5 £2) @_ 2)#(4«:(}-— )(z/-/, _ u)(z.LZ)(
ZQ‘* 2) ¥ — = (A_)()i — = ) é




22 .notebook December 03, 2019

£ s27m 182, p. [-707) Po LASTECH SR
A fo CASTEGY #oto7. ML

Gl ¥x, e (P,7) ve k ,f spo) Mar’, 5F
90"7/ F'Z ;(Ya

Qn) —}/y ... St , soa?fr-——-([ )(:xuﬁ 9,,)

Yo X5 X=Xx,"

i) XE (P2 | umr= L b fra + £ fi0)



22.notebook

December 03, 2019

(Z,ﬁ "5@,/ .n»//'aﬁ)’o = IADB)=M///“‘I'-/4/ B

poy (2" & aeyff) = oF (A #  (AD)= a0

= ™ /A\,ﬂ) jE hﬂ?é
S (0B »B+10),

10



22 .notebook December 03, 2019

é") poc2e o« (AnBlz0 .. WXEPEAE 44 &)

nsl. > saé L) A R
3Gl (84 € 5

4 /»(AL/B)= ﬁ*/ﬂ) + (0"4}

Dy >, ‘;"A":(::, ‘(‘ —
A ]
-G i) (2

D m(h) = (£)—p(Aa0)

> mlAd)- () mﬁ—@é;;@

11



22 .notebook December 03, 2019

12



22 .notebook December 03, 2019

Yz"'Jl" 41424 . A p- Z"'?"71 |
S — |
REZ xa=Yy=o

I ] 2
Y¢J4L&~Z/ZJ_§0 4_2_,‘2

L )t/léa 2
X"‘j“ (“'4- AR - 74—)(

)(24-‘)‘-‘ ((4254
S<lo,0,4), "1 ﬂ\

| \ ? |
@4 o 2‘ D—Q-zz
2,-322. /*

2 2-g+28:22 » 2-Ia+2=0 z @

13



22 .notebook December 03, 2019

VAL (. S04k
X= §-co
?r f. Y 4
R= AR

=S
cpe [0,77] | acfrrvis 25" ]

Fé'/o//,] / /sz-' _3 =2~ _? {“744\,7)
} =2y

)(J-JJ((J’) A

CA—
(=a)'= 1- /x+,)) 1-(§dg s Pl < 4. ¢ (s w?0)

-1 =5/1-p° ) A-F
a=A-Va-¢

14



22 .notebook December 03, 2019

A-p
Y] N 4
=27 (¢ Daf;? As --.27"!&?’;746

15



22 .notebook December 03, 2019

A.—;(-/m({) A
lbc }-&"({ ’{C/

16



22.notebook

December 03, 2019

Jeag+lomd Jeeep 3. amy
3) 2 g #»
1 q Tt (2l et %
N =9 4

f (A mqenr 10¢) = L.(9 - Tarip caldy

.~:+?jr.>@,4(x_7q+w7c{+m ;{A/e(

=fﬂt/c{

17



	Stránka 1: pro 3-17:57
	Stránka 2: pro 3-18:06
	Stránka 3: pro 3-18:09
	Stránka 4: pro 3-18:11
	Stránka 5: pro 3-18:15
	Stránka 6: pro 3-18:19
	Stránka 7: pro 3-18:25
	Stránka 8: pro 3-18:29
	Stránka 9: pro 3-18:35
	Stránka 10: pro 3-18:39
	Stránka 11: pro 3-18:44
	Stránka 12: pro 3-18:49
	Stránka 13: pro 3-18:56
	Stránka 14: pro 3-19:05
	Stránka 15: pro 3-19:12
	Stránka 16: pro 3-19:19
	Stránka 17: pro 3-19:25

